®

‘g TeXHU4YeCKN XxapakTepUCTUKHU
GALVINGEN =

BonT Valenta ¢ wecrtocTteHHa rnaBsa uysana pe3tda M10x16 mm, 8.8,

DIN 933
(| )\ |
a R
K, |

Dimensions Art. k s e Weight Packing Dimensions Art. k s e Weight Packing
(dx1) code mm mm mm kg/100 pcs pcs/box (dx1) code mm mm mm kg/100 pcs pcs/box
M5 x 8 933105008 3,5 8 879 0,24 500 M8 x 55 933108055 53 13 14,38 2,34 200
M5 %10 933105010 3,5 8 8,79 0,26 1000 M8 x 60 933108060 5,3 13 14,38 2,50 200
M5 x 12 933105012 3,5 8 8,79 0,29 1000 M8 x 65 933108065 53 13 1438 2,66 200
M5 x 14 933105014 3,5 8 879 0,31 1000 M8 x 70 933108070 5,3 13 14,38 2,82 100
M5 x 16 933105016 3,5 8 8,79 0,28 1000 M8 x 75 933108075 5,3 13 14,38 2,898 100
M5 x 20 933105020 3,5 8 879 0,38 1000 M8 x 80 933108080 5.3 13 14,38 314 100
M5 x 25 933105025 3,5 8 8,79 0,44 500 M8 x 90 933108090 5.3 13 14,38 3,46 100
M5 x 30 933105030 3,5 8 8,79 0,51 500 M8 x100 933108100 5,3 13 14,38 3,77 100
M5 x 35 933105035 3,5 8 8,79 0,57 500 M8 x 110 933108110 53 13 14,38 4,09 100
M5 x 40 933105040 3,5 8 879 0,63 500 M8 x120 933108120 53 13 1438 441 100

M5 x 45 933105045 35 8 8,79 0,70 500
M5 = 50 933105050 3,5 8 8,79 0,76 500 M10 x 12 933110012 6,4 17 189 12 200
M5 x 60 933105060 3,5 8 8,79 0,88 500 M10 x 16 933110016 | 6,4 17 189 192 200
M10x20 933110020 6,4 17 189 22 200
M6 x 8 933106008 4 10 11,05 0,37 500 M10 %25 933110025 6,4 17 189 2,37 200
M6 = 10 933106010 4 10 11,05 0,41 500 M10 %30 933110030 64 17 189 2,62 100
M6 x 12 933106012 4 10 11,05 0,44 500 M10 x 35 = 933110035 6,4 17 189 2,87 100
M6 x 14 933106014 4 10 1,01 0,48 500 M10 x40 933110040 6,4 17 189 312 100
M6 x 16 933106016 4 10 . 11,05 0,51 500 M10x 45 933110045 6,4 17 189 3,37 100
M6x20 933106020 4 <10, 1,05 0,58 500 M10x50 933110050 64 17 189 362 100
M6 x 25 933106025 4 ¥ 11,05 0,67 500 M10x55 933110055 6,4 17 189 3,87 100
M6 x 30 933106030 4 10 11,05 0,75 500 M10x 60 933110060 64 17 189 413 100
M6 x 35 933106035 4 10 11,05 084 500 M10x65 933110065 6.4 17 189 3,87 100
M6 x 40 933106040 4 @ YN0 092 200 M10x70 933110070 64 17 189 4,63 100
M6 x 45 933106045 4 10 11,05 1,01 200 M10 % 75 933110075 6,4 17 189 4,88 100
M6 x 50 933106050 4 10 11,05 1,10 200 M10x80 933110080 6,4 17 189 SHE 100
M6 x 55 933106055 4 10 11,05 119 200 M10x 85 S33110085 6,4 17 189 5,38 100
M6 x 60 933106060 4 10 AAeE 127 200 M10x90 933110090 64 17 189 Y65 100
M6 x 70 933106070 4 10 11,05 1,44 200 M10x100 933110100 6,4 17 18,9 6,13 100
M6 x 80 933106080 4 10 11,05 1,62 200 M10 x 110 933110110 6,4 17 189 6,64 100
M6 x 90 933106090 4 10 11,05 1,80 200 M10x120 933110120 6,4 17 189 714 100
M6x100 933106100 4 19 Ao 1,98 100 M10x130 933110130 6,4 17 189 7,64 50
M10x140 933110140 6,4 17 189 814 50

M8 x 10 933108010 53 13 14,38 09N 500
M8 x 12 933108012 53 13 14,38 0,98 200 M12 x 16 933112016 75 & 2 2,77 100
M8 x 16 933108016 5,3 13 14,38 I, 200 M12x20 933112020 75 19 211 3,10 100
M8 x 20 933108020 53 13 14,38 1,23 200 M12 x 25 933112025 75 1@ 2 3,40 100
M8 x 25 933108025 5.3 13 1438 139 200 M12x30 933112030 75 19 211 307 100
M8 x 30 933108030 53 13 14,38 55 200 M12 x 35 933112035 75 19 211 413 100
M8 x 35 933108035 53 13 14,38 1,71 200 M12 x40 933112040 75 1@ 2 4,49 100
M8 = 40 933108040 53 13 14,38 1,87 200 M12 x 45 933112045 75 19 211 4,85 100
M8 x 45 933108045 5.3 13 14,38 203 200 M12 x50 933112050 75 19 211 5,20 100

M8 x 50 933108050 5.3 13 1438 2718 200 M12 x 55 CEERRES s 19 211 5,56 100




2  TexHu4yecku xapakTepucCTUKH

GALVING‘

Dimensions Art. k s e Weight Packing Dimensions Art. k s e Weight Packing
(dx1) code mm mm mm kg/100 pcs pcs/box (dxl) code mm mm mm kg/100 pcs pcs/box
M12x60 933112060 75 19 211 582 100 M16x150 93316150 10 24 2617 23,70 25
M12x65 933112065 75 19 211 628 50 M16x160 933116160 10 24 2617 2500 25
M12x70 933112070 75 19 211 6,64 50
M12x80 93312080 75 19 211 736 50 M18x40 933118040 11,5 27 29,56 12,00 50
M12x90 933112090 75 19 211 8,08 50 M18x50 933118050 1,5 27 29,56 13,60 50
M12x100 933112100 75 19 211 8,80 50 M18 = 60 933118060 M5 27 2956 1530 50
M12x110 933112110 75 19 211 952 50 M18x70 933118070 1,5 27 2956 1690 50
M12x120 933112120 75 19 211 10,20 50 M18x80 933118080 1,5 27 2956 18,00 50
M12x130 933112130 75 19 211 1090 50
M12x140 933112140 75 19 211 11,60 50 M20x30 933120030 12,5 30 3295 13,40 25
M12x150 933112150 75 19 211 12,30 50 M20x35 933120035 125 30 3295 1450 25
M12x160 933112160 75 19 211 13,00 50 M20 x40 933120040 125 30 3295 1550 25
M20 x 45 933120045 125 30 3295 16,50 25
M14x25 933114025 88 22 2391 530 100 M20x50 933120050 12,530 3295 1760 25
M14x30 93314030 88 22 2391 579 100 M20x55 933120055 125 30 3295 1860 25
M14x35 933114035 88 22 2391 629 100 M20x60 933120060 12,5 30 3295 19,60 25
M14x 40 933114040 88 22 2391 6,79 100 M20x 65 933120065. 125 = 30 3295, 207 25
M14 x 50 933114050 8,8 22 2391 7,79 50 M20 x 70 933120070 12,5 30 32,95 217 25
M14x60 933114060 88 22 2391 878 50 M20x75 933120075 125 30 3295 227 25
M14x70 933114070 88 22 2391 979 50 M20 =80 933120080 125 30 3295 23,8 25
M14 x 80 933114080 8,8 22 2391 10,70 50 M20x85 933120085 125 30 3295 247 25
M14 x 90 933114090 8,8 22 2391 11,70 50 M20x90 933120090 125 30 3295 25.8 25
M14x100 933114100 8,8 22 2391 12,70 50 M20 =100 = 933120100 125 30 3295 276 5
M20 x110 93312010 125 30 3295 30 25
M16x20 93316020 10 24 2617 630 50 M20 %120 933120120 125 30 3295 32 >C
M16x25 933116025 10 24 2617 702 50 M20%130 933120130 125 30 3295 34 >C
R e RS S G, atf Bl - M20 =140 933120140 125 30 3295 361 25
it SERSEE D e D < M20 «150 933120150 125 30 3295 381 25
M16x 40 933116028 1A NG 2617 9,09 L0 M20x160 933120160 12,5 30 3295 402 25
M16x45 933116045 10~ 24 2617 - 9,71 50
Wi ss oastiecss 10 a4k i SHoo oy  [Rind0 omwdbdo 5 % s es 3
M16x 60 933116060 10 - 24 26:1? 11,,70 50 M2dxd5 933124045 15 .36 . Dos 257 2
e IS eO N e M2is50 smeddso 15 e wss 21 2o
M16x70 933116070 10 24 2617 13,00 25 ' :
Mi6=75 933116075 10 24 2617 13.70 25 P T LT P I -5 =
M16x80 933116080 10 24 2617 14,40 25 ool CERIO pib e SR il 2
M16x85 933116085 10 24 2617 1500 25 benal EEEEtnD s 5B BEas ZER e
M16x90 93316090 10 24 2617 1570 25 Medx75 933124075 15 36 3955 348 =
M16x100 933116100 10 24 2617 17,00 25 PR IR L R T 2=
M16x110 933116110 10 24 2617 1840 25 M24x50 933124090 15 36 3955 393 -
M16<120 933116120 10 24 2617 19,70 25 et B0 SESRRAD ik e S A2 3
M16x130 933116130 10 24 2617 21,00 25 Mat <10, H3aH0, (5 . 56 3055, 453 20
M16x140 933116140 10 24 2617 22,40 25 M24<120 933124120 15 36 3955 483 (10

MpoaykT: bonTt Valenta ¢ wiectocteHHa rmaea ugana pesta M10x16 mm, 8.8, DIN 933
Kareropus: bontoBe 1 BUHTOBE MeTpuyHa pesba

Mapka: Mapka Valenta
Tun: BonT Valenta



https://tashev-galving.com/product/007-VAL-127/bolt-valenta-s-shestostenna-glava-tsyala-rezba-m10x16-mm-8-8-din-933
https://tashev-galving.com/cat/200320/boltove-i-vintove-metrichna-rezba
https://tashev-galving.com/brand/valenta
https://tashev-galving.com/brand/valenta/bolt

